» Uvegbdl épitunk”

ARC DESIGN
200mm c/c i ’ 2OOSP4

Glass Projekt Kft., H-1112 Budapest, Kéérberki u_36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt hu, Web: www glassprojekt hu



» Uvegbdl épitunk”

ARC DESIGN

200mm c/c

200SP2-180

200SP1

“Zay

D

[

Glass Projekt Kift., H-1112 Budapest, Kéérberki u.36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt.hu, Web: www.glassprojekt hu



» Uvegbdl épitunk”

STAGE DESIGN
220mm c/c . 2203P4

=

/i\

')I,

—_—

220SP3

Glass Projekt Kift., H-1112 Budapest, Kéérberki u.36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt.hu, Web: www.glassprojekt hu



» Uvegbdl épitunk”

STAGE DESIGN
220mm c/c

220SP2-180

220SP1

Glass Projekt Kft., H-1112 Budapest, Kéérberki u_36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt hu, Web: www glassprojekt hu



220SP1-WM

OFTions 1 Z2205P1-WM (LH)
Z205P1-WM (RH)

220SP2-WM

220mm c/c

Glass Projekt Kift., H-1112 Budapest, Kéérberki u.36., Fax: +361 309 5595, Mobil: +3630 400 3030,

E-mail: info@glassprojekt hu, Web: www glassprojekt hu

» Uvegbdl épitunk”



200SP2-FT FIN SPIDERF

IncLupes BoLTts & NuTts
NoTeE: Use SP-ARDO4 FLaATHEAD ARTiICULATE ROuTEL

200SP4-FT

200mm c/c

Glass Projekt Kift., H-1112 Budapest, Kéérberki u.36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt.hu, Web: www.glassprojekt hu

» Uvegbdl épitunk”



» Uvegbdl épitunk”

ARTICULATE ROUTEL SP-ARO1

COUNTERSUNEK ARTICULATE ROUTEL
Grass THICKNESS: = 1 7.52MM

M14 %20
Iﬂ M14 X 2.0 NUT

: ‘—M:H 5X15 | | ~Lock Washer
%

SP-ARO1TF

FrRONT Fix COUNTERSUNK ARTICULATE ROUTEL

Glass Projekt Kft., H-1112 Budapest, Kéérberki u_36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt hu, Web: www glassprojekt hu



» Uvegbdl épitunk”

SP-ARO2 ARTICULATE ROUTEL

FLATHEAD ARTICULATE ROUTEL

GLASS THICKMNES 2 17.52MM / Z6MM

] M14 X 2.0
5 = | — M14 X 2.0 NUT

1.75—-%*--

i

~M315X15 | | LockWasher

GrLass PreParAaTIiON — UseErR's DiscrReETION REQUIRED

SP-ARO2F

FroNT Fix FLATHEAD ARTICULATE ROUTEL

~M315X15 M4 X 2.0
M14 X 2.0 NUT

| —Lock Washer
| I'Iu i Spacer

166 [B8-15

Glass Projekt Kift., H-1112 Budapest, Kéérberki u.36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt.hu, Web: www.glassprojekt hu



SP-ARO4

FLATHEAD ARTICULATE ROUTEL
NoTeE: For Fin SPIiDERF ONLY

SP-Z01

SPrinERF Base

COoOMPRISING Z FARTS OF : S33716 & LOW CARBOM STAINLESS STEEL

_—

Y — Y

¥ ¥
Mat'l SUS 316 Mat'| Q235

Glass Projekt Kft., H-1112 Budapest, Kéérberki u_36., Fax: +361 309 5595, Mobil: +3630 400 3030,
E-mail: info@glassprojekt hu, Web: www glassprojekt hu

» Uvegbdl épitunk”



